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General Instructions:

A Ader:

1. The question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in

the Question paper. All questions are compulsory.

1. AT H g TS AATE - T, &, Y, 3, $ 3R | sHA 37 WA &
wReT 9. T3hy W fAad &

2. Section A — From questions 1 to 20 are MCQs of 1 mark each.
2. W8T - Y& 1 W 20 e Yo 1 3 & Tgachedd T ¢

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks

each. Answer to each question should not exceed 40 words.

3. W3 o - YR HEAT| 21 W 24 AT Y ITRT TA §, Foeish 2 37h &
YT | Tl TR 3T 3T 40 Uee} & e et ger =fee

4. Section C contains Q.25to0 Q.29 are Short Answer Type Questions, carrying 3 marks each.

Answer to each question should not exceed 60 words.

4. GE W H Q.25 W Q.29 7 oY I JhR & A ¢, Foeted & 9 o fow 3 37 €
s TR I I 60 el & A A1¢T gl aifeel




5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each.

Answer to each question should not exceed 120 words.

5. @S 3Y - W21 HEAT. 30 W 33 o &Y 3e1T 9T §, T Ah 5 37 Fr g

YA T T 3] 120 At A 31 AT gleir aifev|

6. Section-E - Questions no from 34 to 36 are case based questions with three sub questions

and are of 4 marks each. Answer to each question should not exceed 100 words.

6. WS-§ - 2T ShHTH 34 W 36 A clieT 39 TRaAT & HIY Hd menie T §

IR URAF 4 3 FT &1 TAP WA T 39T 100 el § 31F AET g Tnfgv]

7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History

(2 marks) and 37b from Geography (3 marks).
7. @3 U - YT HEAT. 37 AT 3 &, et &Y s1eit » @y 5 3w §, 37 sfga a g

(2 37eR) AR spairer @ 3740 (3 37) |

8. There is no overall choice in the question paper. However, an internal choice has been

provided in few questions. Only one of the choices in such questions must be attempted.

8. WRST U ¥ WA T W FIS Ao o7¢1 ¢ BT, O TRaAl 3 T H(cTeh [aoheq Setet fonam a1 g1
U Wit F F Farel U fAheq T Y T4 Far Afgwl

9. A separate question has been provided for visually impaired candidates in lieu of questions
having visual inputs, maps etc. Such questions are to be attempted by Visually impaired
students only. In addition to this, separate instructions are given with each section and

question, wherever necessary.

9. TieeaTer Jreafiat & forT FRal & AT 9T Ueh 3elaT Y21 STelety HIIAT I &
forest Teg gerqe, AR 3nf gf1 ¥ weat &1 3R Frae efearfrdt o @ & g
ga rfafer STeT ot 3maRTs 8Y, Tl IHTHIT F ATY JHeler-3rerar fger Rw arw §




SECTION-A 1X20=20
HTIT — 37
Q.1 1
COLUMN A COLUMN B
(a) Ninety-five theses fa=area fifda (i) Written by Jayadevan sTaca
(b) Gita Govinda 3frar amfdg (ii) Rashsundri debi TEHed &t
(c) Sambad Kaumudi &aTe aieer (i) Author Martin Luther o/@® ®ifce
W
(d) Amar Jiban (Autobiography) 3THR | (iv) Ram Chaddha TH dsar
Siraet
(e) Istri Dharamvichar T ¢#AfaaR (v) Written by Rammohun Roy T&H#gA
JT
(@  (a)(ii), (b) (iv), (c) (v), (d) (iii), (e) (i)
(b)  (a)(iii), (b) (iv), (c) (v), (d) (i), (e) (i)
(c)  (a)(iii), (b) (i), (c) (v), (d) (ii), (e) (iv)
(d)  (a) (i), (b)(iv), (c) (v), (d) (ii), (e) (i)
(@ () (i), (&) (iv), @M (v), @) (i), @) ()
(&) (@) (i), (&) (iv), @) (v), &) (i), ) ()
(@) (@) (i), @) @), @ (v), @) (i), @) (v)
@ (@ (), @) (iv), @M (v), @) (i), &) (i)
Q.2 | Mark the option which is most suitable: 1

Assertion (A): Pre-modern trade and cultural exchange existed between distant regions.

Reason(R): Chinese silk was transported through silk routes to western world.

(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais true but R is false.

(d)

d) A is false but R is true




39 fahen I RfAT T S Fe8 39gFd &
arar (U): goI &t & o qE-3myfe SR 3R Agiad Aee-ger Aisg ol
HROT (3R): T QA & WA AEN & ATCIH § qiRwHAT gferar # o Srar ai:24r |

(T) T 3R IR gl I § 3R 3R, T &7 TET TISET gl
@) T 3R IR A T § Afhad 3R, T H TET TISAIOT =T8T g

(@) T AT g offhed 3R eI gl
@) T aTeAd ¥ Jfee IR T §

Q.3 | Why was Simon Commission sent to India in 19287
(a) To look into the functioning of Indian constitutional system and suggest
reforms.
(b) To try Indian revolutionary leaders.
(c) To frame a new Constitution for India.
(d) To persuade Gandhiji to attend the Round Table Conference.
1928 H ABHA HHAT HRA FAT AT IAT?
(T) R HIeforeh Jomell &1 HRYOMEN W IR T 3R GURT 1 gora =7l
(@) ARAT HITAFRT AT ST SSTATAT|
(@) ART & ToIT T 191 YU S|
@) MRS Y MAAST FFATA H AT ol & AT TS AT
Q.4 | Assertion (A) - The growth of revolutionary Nationalism in Europe sparked off a struggle

for Independence amongst the Greeks which began in 1831
Reason (R)- Greece was suffering under subjugation of the Ottoman empire.

A) Both A and R are true and R is the correct explanation.

C) Ais true but R is false

(A)
(B) Both A and R true but R is NOT the correct explanation of A.
(€)
(D) A is false R is true

HYUA (T) - JUY H hifdhT Togare T geftr o FEY &l Sor fedr
FATat & ST FacAdr & AT S 1831 F ¥ g%

FROT (3R) - N ATSHT AT & 3efTar & DT am)

(T) T 3 3R &l FF § 3R 3R TE TIsEaoT gl
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@) T 3R IR A T § AT IR, T T FET TISIIT 81 ¢
@ T g § AfFT IR T §

@) T IAd § IR T §

Q.5 | ASSERTION (A): Alluvial soil is ideal for growth of paddy, wheat cereal and
pulse crops.
REASON (R) Alluvial soil is well- known for its capacity to hold moisture.
a) Both (A) and (R) are true and R is the correct explanation of (A)
b) Both (A) and (R) are true but R is not the correct explanation of (A)
c) (A) is true but (R) is false.
d) (A) is false but (R) is true.
HYA (V): Stelle A ret, A Jerel IR Selged hael HI gefr & fav e &l
FROT (AR): Feilg AT AT FH GRUT kel HT &TACT & fov IReH gl
(V) gt (T) 3R (3IR) TT ¢ 3R 3R (T) H HE T ¢
@) axat (v) 3R (3R) TcF & AfheT 3R (T) &1 TE TISaoT g §
(&) (V) T & ofhet (3R) FTeld T
(&) (T) el & olfehed (3TR) T &
Q.6 Which of the following conservation strategies do not directly involve community
participation?
(a) Joint forest management (b) Beej Bachao Andolan
(c) Chipko Movement (d) Demarcation of Wildlife Sanctuaries
fAtfof@d & & v @Retor WEfd & @ dk W aegeRs amefiedr anfae =gt 87
(T) TYFT T Jaere () s ST AT
(@) FageRr 3ncrersT () TISla FHIRUAT T TAThT
Q7 Which one of the following is a positive effect of dams?
(a) Interstate water disputes (b) Excessive sedimentation of reservoir
(c) Displacement of population (d) Irrigation

fAeafaf@a & & @l ar arel a1 eghe sa 82
(T) ITRSAT ST Qarg () STSRIT T ’cAT™F adIGsT




(@) STAEEar F AT @) T

Q.8

Which of the following crops is grown as a Kharif crop in northern India and
rabi crop in South India ?

(a) Sesame
(b) Wheat
(c) Bajra
(d) Ragi

rAfaf@d F & S T woe 3T HRA H TI® T B 3R SaToT R 7 6T Hr vE@dT &
&Y H 39S ST §2

() faer
(s g
(%) STeRT
(3N

Q.9

Community government in Belgium is a good example of power sharing
among?

(a) Different organs of government
(b) Different social groups
(c) Government at different levels
(d) Political parties
TSI # AEETIF TXFR, e dIa TT T AISIGRY T T 30T 3aTEI0T 872

Examine the statement about 'Holding together federation™:

(i) A large country divides its power between constituent states and the national
government.

(i) The Central government tends to be more powerful vis-a-vis the States.
(iii) All the constituent states usually have equal powers.

(iv) Constituent states have unequal powers.

Which of the above statements are correct?

@) (i), (ii), (iii) and (iv) (b) (i) and (iv)




(c) (ii) and (iii) (d) (i), (ii) and (iv)

'TH ATYT AR Tolel dTel TT' & dR H HUA & ST B
(i) T S3T 2 T eAfFd &l Tgcah Tl 3R TSI TWHR & &g [FHTAd X gl

(ii) g TPR T T Jofell F 3T AR gl &
(iii) T T TSAT & I IAAR W A AFAAT giair g1
(iv) esh AT T AfFaar 3TAA gar g

3WFT H F Hid AT HUA FEr 67

(@ (i), (i), (iii) 3R (iv) (&) (i) 3R (iv)

(&) (it) AR (iii) (& (@), (i) 3R (iv)

Q.1

Which one of the following is true regarding a coalition government?
a) Only two parties form an alliance and contest elections.

(a)
(b) Several parties compete for power.

(c) The government is formed by two or more parties coming together.
(d)

d) Several parties form an alliance and compete for power.

IS WHR & FoU H Aeafaf@a # @ Fla a1 a7 g2

(T) el & gel MSaU Fad & IR Iofla &sd

@) S aifiéar gar & v gfaeqst s &

(@) THR & a1 &y F 3fAF gall & TH TqTYT 3 F T §
@) F5 TIfeTT BT T § AR Far & forw gfaeae’ wdr §1

Per capita income is also known as ......
(a) Average income
(b) Gross income
(c) National income

(d) Total income
g caferd 3T H 587 T AT ATAT 6 ...
() 3 3




(&) Gl 3T
(&) TS 3T
(3N T 31

Jowar, Bajra and ragi are important------------ grown in India.
(a) Commercial crops (b) Cereals

(c) Millets (d) Cash crops.

AR, IRT 3R W "R F 39T A are Ageaqey - gl

(U) affeas wel CHEGIS
(@) SR @) TR HEA|

How are sedimentary rock minerals formed?

(@) When minerals in liquid/molten and gaseous forms are forced upward through
cavities towards the Earth's surface.

(b) As a result of deposition, accumulation and concentration in horizontal strata.

(c) Decomposition of surface rocks, and the removal of soluble constituents.

(d) Alluvial deposits and sands of valley floors and the base of hills.

dToL! TeeTel @iaol Fl ddd 82

(1) ST aeT/FArerel 3R AT &9 & @ierst gt T eig S 3R RT3 & ATETH § S T
3R gl ST §

(&) ST Rt F STHET, T 3R THrardr & gRuTHEEERY |

(&) TcTg TeeTl & JqeeH, 3R gelaT2iiel Tehi Sl ger|

(1) =TT & T 3R I3l & 3R W Selle ST AR AT

Identify the industry.

(a) This industry produces Diammonium phosphate.

(b) The production of this industry was boosted by the Green Revolution.
(a) Automobile industry ( b) fertilizer industry
(c)

c) IT industry (d) chemical industry

3T &l GgTel.
(@) TE 3T SHANAIH B HT 3cUTEeT T &l
(@) gRd HIfd & 3T 3NN & 3G &I dgrar fHer|

(T) JiErAISTS 3T (&) 3R e




() 3SEr e (@) TEEE e

In the question given below, there are two statements marked as Assertion (A)
and Reason . Read the statements and chose the correct option:

Assertion (A): It is true that if women are engaged in paid Work.
Reason (R) : Their dignity in the household and society increases.
Options:

a. Both A and R are true and R is the correct explanation of A.

b. Both A and R are true but R is not the correct explanation of A.
c. Ais true but R is false.

d. Ais false but R is true.

AR T a0 wesT A, YT (A) 3R ®ROT (R) & & & RAEAT aF Faa &1 g9 96 3R T@@r
T 1 a1 :

U (A): T¢ T ¢ T3, Ife AT $q37eiTet il 7 w9t g% ¥
FROT (R): & 3R FATST & 3AFT 1R#AT T 8

ICETRE

7) AR R T @cT g 3R R, A Fr agr earear g

&) A 3R R g1 @ § ofehd R, A ST TET oIt 7181 & |
) A g ¢ AfFT R 3T B

(
(
(
(3) A eI § fheT R AT B

GDP is the total value of ............... produced during a particular year:
(a) Final goods and services produced in a year in all the three sectors.
(b) Expenditure done by govt. of India for production.

(c) Service sector total production.

(d) Total value of total raw material

S v (XY av & ST 3cufed ... & ol HoT &
(0) et &t & v a¥ & 3curied 3ifaH aEqu 3R darg|
(@) TER caRT TRIT I-T | Icdle & ToIT AR .

(¥) FaT 8T FT Fel 3cTe |

(3N) Fel hTd AT B Hol Hed
o] ) N

Through which act “Right to Minimum Work’ is implemented?

(a) RTI Act




(b) MGNREGA 2005
(c) Right to Education
(d) Right to Equality

‘FgATH F @ SR fhw fRfags & Aregw @ o) R o g2
(0) 3RE3TS fRfATA

(&) AT 2005

(@) e & 3R

@) FATATT FT ASPR

The Reserve Bank of India supervises the functioning of formal sources of
loans.

Which of the following statements about this sector is not correct —
(a)Rate of interest is low

(b)Needs documentation

(c)Easily available to farmers

(d)Examples are- Bank, Cooperative Societies etc

IR R d& ;o1 & 3ivaRe @dt & FHEdeT FT 9IAeT0T FIAT B
3 &1 & I A frfaf@d & @ «la a1 sy @@ %1 & -

(T) STTST T ST A &

(&) TG (GEATASIT) ST TITHRAT &
(@) TRarEr Fr AR A 3TcleY
(3) 3ETEI0T - o, Fgpry FfAfaar  3nfe

Which organization supports liberalization of foreign trade and investment in
India?

(a)International Labour organization
(b)World bank
(c)World trade organization

(d)International Monetary Fund
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PiT TT TIeT FRT # (el @R 3R P9y & 3T &1 gada
HLAT 2

(T)IecRTSET S TaTdeT
(sfaeT &+

(@)f9eT ORIt

(SNHTISET HeT I
SECTION - B 2X4=8
s -§

Q.2 | Why did Roman Catholic Church control over publishers and book sellers? 2
V| e e == oY st 3R qeaw R BT i R
Q.2 | What type of climate is required for the cultivation of wheat? Name any two important | 2
2 wheat producing states of India.

ﬂﬁﬁ@ﬁ%%mwﬁmﬁmmgﬁr’@ IRT & fhedl ar

9HE A Icdresh Al & A TASY |
Q.2 | Describe the ways in which politics influences the caste system and caste | 2
3 identities.

OR

“In India women’s political representation is very low”. Justify the statement.

37 e FT gulad H T Tereiia Sifaair eaawen 3R sfaea ggareT & ganfaa

AT &

ydar

"HRA H AR F Ao gfdfdfacd sgd wA &' wUA FO3NRHT ey

FfaT|
Q.2 | Describe the three-fold distribution of legislative powers between the Union | 2
4 Government and State Government of India.

OR

How are legislative powers divided between Union Government and State
Governments? Explain with examples.

AR &1 Fg AR AR Tog TFHR & I [urh afFadr & da-giat 7 faawor
T guleT Y|
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a1

Fg TR I TT WHRT & I TR afFaar F& [Fafaa fr aradr §2 3eeor
afed TS|

SECTION-C 3X5=15
gs-4d
Q.2 | What was the contribution of print culture in the growth of nationalism in India? How did | 3
5 the British attempt to check them?
AR H Tsgale & A # Agor TERT F1 FA1 AeTeleT A2 IS o 37 W IHHA
M 1 91 fhE JhR fmar?
Q.2 | “Multipurpose projects have failed to achieve the purpose for which they were built”. | 3
6 Justify by giving reasons.
"SEICEAT IRAGAT 37 36T H ged R A el @ § TEd AT 3w
fo#ToT fohar aram 91| SHROT SR give HifSv]
Q.2 | “Democracy is accountable and responsive to the needs and expectations of the citizens” | 3
7 Justify the statement.
AhaT AR i 3maegsarit 3R 3wt F 9fa Saweg 3 3WeErRT §, 39 Fus
1 gfte Y|
Q.2 What are the differences in the employment conditions between organized and | 3
8 un-organized sectors of the economy?
HITTEAT & HIfod AR 3rFerfed &1 & a9 VR &1 Fufaat 7 Far 37w g2
Q.2 | “Technology has stimulated the globalization process.” Support the statement with | 3
9 examples.
"Hefahr & dedientor ufshar @ aRa far g1 3eeer afed Fue &1 gadT |
SECTION-D 5X4=20
gs -3
Q.3 | Explain the measures and practices introduced by the French revolutionaries | 5
0 to create a sense of collective identity amongst the French people.
B o & dr @RE ggHleT T Haer YaT el & T shieer sifderRar
CaRT & fhT 91T 3UTAT 3R Uit T saredr H
Q.3 | Why is ‘Resource planning’ necessary? Give any five reasons. 5
1
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T e AT 3maeTe §2 P 9ra SRuT fAf@u|
OR / 31¥ar
Which soil is called ‘ regur soil’? Mention any four characteristics of this type of soil.

e Acd &1 WR A gl S §? 5§ GhR & A 1 w1 IR faQvan
ERIEY

Political parties fill political offices and exercise political power. But they do
this by performing a series of important functions. Describe any five of them.

Tfade aoT Tolaifaer HIATHAT & 39T A & 3R Toefas afed &1 96T s
g dfehed I S FHecaqul H Fah THT aXd &1 397 @ gl o & ol ffST|

OR / 31yar

Political parties need to face and overcome a number of challenges in order to remain
effective instruments of democracy. Explain any five such challenges which the political
parties face in the present era.

ShclT & YA AU &l T o ToIU ASTeliicleh Goll S Fellicrdl T HHAT et
3R 3T IR I B TR § TAART FAT F AoAad Goll F A CH HS v
ECURRIRCRIE

Analyse the pie chart regarding the sources of credits in rural India. Find out the reasons
for major role of informal sources in rural India. Give five points.

AT ARG H KOT & Gidl & FOT H U ¢ H ARV Y| AT ART H
3rAtoeien Hicl T JHG AR & HRON HT GdAT FME| Gl HROT FASY |

Sources: NCERT book jess203 Gid: TAHIS3RE J&deh jess203
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Graph 1 : Sources of Credit in Rural India, 2019
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4X3=12
SECTION-E
gs-%
Q.34 | In 1930, Muhammad Igbal, as president of the Muslim League, reiterated the | 4

importance of separate electorates for the Muslims as an important
safeguard for their minority political interests. His statement is supposed to
have provided the intellectual justification for the Pakistan demand that came
up in subsequent years. This is what he said: | have no hesitation in declaring
that if the principle that the Indian Muslim is entitled to full and free
development on the lines of his own culture and tradition in his own Indian
home-lands is recognised as the basis of a permanent communal settlement,
he will be ready to stake his all for the freedom of India. The principle that
each group is entitled to free development on its own lines is not inspired by
any feeling of narrow communalism ... A community which is inspired by
feelings of ill-will towards other communities is low and ignoble. | entertain
the highest respect for the customs, laws, religions and social institutions of
other communities. Nay, it is my duty according to the teachings of the
Quran, even to defend their places of worship, if need be. Yet | love the

communal group which is the source of life and behaviour and which has

14




formed me what | am by giving me its religion, its literature, its thought, its
culture and thereby its whole past as a living operative factor in my present

consciousness ...

‘Communalism in its higher aspect, then, is indispensable to the formation of
a harmonious whole in a country like India. The units of Indian society are not
territorial as in European countries ... The principle of European democracy
cannot be applied to India without recognising the fact of communal groups.
The Muslim demand for the creation of a Muslim India within India is,

therefore, perfectly justified...

‘The Hindu thinks that separate electorates are contrary to the spirit of true
nationalism, because he understands the word “nation” to mean a kind of
universal amalgamation in which no communal entity ought to retain its
private individuality. Such a state of things, however, does not exist. India is a
land of racial and religious variety. Add to this the general economic inferiority
of the Muslims, their enormous debt, especially in the Punjab, and their

insufficient majorities in some

of the provinces, as at present constituted and you will begin to see clearly

the meaning of our anxiety to retain separate electorates.’
Q34.1 Who was the president of Muslim League in 19307 1

Q34.2 Why Muslim League was adamant the demand of separate nation

for Muslims? 1

Q34.3 “Bi-Nation theory is the result of partition of British India”.

Examine the statement. 2

1930 H, ARTTH NIl & HEeT & T H AGFAG shalel @ HAAAA &
fT 3aeh rcudeas Uekiias f&dl & fv T #@gcaqol geam & &7 &
el faTae 8131 & #Agcd FF QAT AAT AT & [F 3% I o d1G
¥ avf & 38 Ured @ AT F et MR yereT BT ¥l S
Ig gl: A Tg O e & 15 ufhage «@8 § & Ifq a8 Rewna
for o ARG el oA ATGfA # 3oel FEpfa 3R waw
dof W gt 3R FadT FFE & gFeR &, F HURN & § A AlIdr o
ST 81 TR Wiveri¥s GASAT, 98 HRd H T & AT 39 q9
S &d W o9 & AT IR g Ig ewia o6 Icds THg 39el ool
R TadT e & gheR g, fordr TehoT aiuerifiear fr dEer & IRd
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TG ... S WG 3T WG & Wi giaem T smaen @ aRd § 9%
A 3R e &1 # 3w weet & dfa-Rarst, FepE, ad@t ik sl
3T & 9fq Aafed TFEART W g1 +TeT, F0T H R & 38R T
A HdeT ¢, TgT d b ST IS W 3Aah Qo el I &1 e ot
A Hded gl T o # 33 AiveRe @y § R #dr g S Siiae 3R
AR # Hid § IR T J3 AT GH, YT Fiiged, A9 AR,
39l TEPIA 3R 58 M@ ITAT QAT A ITAT Acfelm H T Shifad
AihT &RE & §T H SH H{H T & ..

A Y, 9T =4 gge] H HYSTRAST, AR S & F U WHEgqor
FHIAT & AT & fIT ARG &1 HARAT FATS T gehrgal U =t
I TWE AT AG §.. UGS HAGN & dAXT A g faer Fud
T & fAeuTd & 9RT H o] =gl fhar ST Fhal g1 AT, R 5
MR AR aRa & AT Ay FReew A fF e @ 3fa &

feq 1 AT § T que fAaifosr g Usgare & saen & fAodid g,
FIfR Ig "US" s A Teh YhR T radiAe AT GHsIar § foas
frelt oY aveRe see # I et dfFdear SRR S8 I@e
Mgl glellfeh, T FIs PUfT Al €t 81 oRd sy 3R enfiss
fafaerar &1 o §1 S6F AEAE H AT IS Adr, 37 T o,
faQeRt doTTer #, 3N F A I 9T TgAT B S5 o

gidt T, ST T gade & afea § 3K 39 3reer Fae JAsd 9T @A
1 gAY T &7 31 TI5C &9 § ST Y& FT &N’

YRl 34.1 1930 # FITCH 3T T IeTeT Hled UT? 1

YT 34.2 ARRAHA oI FuAAR F A€ 9T TS Fr AW W FA I 58
A 1

wee 34.3 "gfa-trsg Raguiad ffeer sRa & Remrsier &1 aRone 8| F3eT Fr
Tr&Tor Y. 2

Q.35

“In the city of Beirut, there lived a man called Khalil. His parents came from
different communities. His father was an Orthodox Christian and mother a
Sunni Muslim. This was not so uncommon in this modern, cosmopolitan city.
People from various communities that lived in Lebanon came to live in its
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capital, Beirut. They lived together, intermingled, yet fought a bitter civil war
among themselves. One of Khalil’'s uncles was killed in that war. At the end of
this civil war, Lebanon’s leaders came together and agreed to some basic
rules for power sharing among different communities. As per these rules, the
country’s President must belong to the Maronite sect of Catholic Christians.
The Prime Minister must be from the Sunni Muslim community. The post of
Deputy Prime Minister is fixed for Orthodox Christian sect and that of the
Speaker for Shi'a Muslims. Under this pact, the Christians agreed not to seek
French protection and the Muslims agreed not to seek unification with the
neighbouring state of Syria. When the Christians and Muslims came to this
agreement, they were nearly equal in population. Both sides have continued
to respect this agreement though now the Muslims are in clear majority.

Khalil does not like this system one bit. He is a popular man with political
ambition. But under the present system, the top position is out of his reach.
He does not practice either his father’s or his mother’s religion and does not
wish to be known by either. He cannot understand why Lebanon can’t be like
any other ‘normal’ democracy. “Just hold an election, allow everyone to
contest and whoever wins maximum votes becomes the president, no matter
which community he comes from. Why can't we do that, like in other
democracies of the world?” he asks. His elders, who have seen the
bloodshed of the civil war, tell him that the present system is the best
guarantee for peace...”

The story was not finished, but they had reached the TV tower where they
stopped every day. Vetal wrapped up quickly and posed his customary
question to Vikram: “If you had the power to rewrite the rules in Lebanon,
what would you do? Would you adopt the ‘regular’ rules followed everywhere,
as Khalil suggests? Or stick to the old rules? Or do something else?” Vetal
did not forget to remind Vikram of their basic pact: “If you have an answer in
mind and yet do not speak up, your mobike will freeze, and so will you!”

Q35.1 What was the Khalil’s dilemma?

Q 35.2 Khalil was the follower of Power sharing or not? Give your
reasons.

Q 35.3 what is the present condition of Lebanon?

“SEd AT H TWolld AH T T HGHT IEAT ATl 3% HAG-Tar
3TOIET-37eleT FHEAT ¥ 3T A| 33 T v Feardy sars & 3R

AT Gooll ARAA AT, 37 INYAF, AGARIT AT A g AT AT gl
AT AGAT H WA arel e TS & o1 SHRT ATl 9% H el
A 9 Th Y Td I, goad-fAed I, O ol 398 &7 Fig Jpgey a5d
q| 38 Jou A Welld & TH orar &1 Ald g 7S M| 38 I[§ Jeur & 3id
H, JFdleT o oAd Wmamﬁ?ﬁfﬁﬁrﬂﬂaﬁr%aﬁﬂam I e
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& v 3o g@u FuA | FEAd gl 5T AT F I3FAR, U F
Tsgufd HUlfoe SHsdl & HIASC e & gl UIfeU| FUTeisa ool
AT T § @ TRT| SUTLAAS T 96 Fea $AS T9&T &
fore 3R 3remer 1 ug Rar gaeAE & fov @UiRa &1 5@ |9 & ded,
SIS IHIENE FRAT A8 o W HeAd gU 3N FherA qel Is AR
%WW@WH@T*HWHng@TIW%ﬁ@T?\TW
& drg g TASANAT G3, AT 3TR SAATCAT TeaT SR AN et gt A
ST YW@ & 58 THASAI HT GFAT P glellfsh T FHAHAA TI5€ TgAd H
gl

ol &l ¥ ATeH T o g A8l §. g8 Jolelde Hgcdlhall ald Th
RO STfFd &1 oifehed Hisfar cga®dm & dgd MY 9g 3o9h 9T H SN
g g8 o o 39 Tar & &8 FT greled HLar & 3R 7 & 379er #A F 9T
HT GTeled Xl § 3R o & Ig dedr ¢ & 38 et & garr e av|
ag ST oJaf 91 g & b oldare Rl 39 "G didhdd $l dig &1
gl B Fehll| "SH Uehs Ush Tald & T &l AT ofSel i HefATT &
STl & 3R S o 31f¥ede dic Siaar § ag Useufa § S1ar §, 91 98
et off THeT @ 31T g1l §A gfiar & 3T Sehddl HT g AT FT
TG X Hb?” I8 YO 8. 3ofh goldl, fegiel @YY T Ul ST B,
3¢ gdid & 5 adae g oaifa & T g9d 3= IR g7

FEA GeA gl g5 oM, AfPT I A TR R 98 T F el I & A
Fhd q| Aol & R & QU HT 3R A @ AT FAT R IO
“Ifg 39 9 oladT H fAgaAr @ O & for@s & afda gid, ar 3T
FAT FA? FIAT 39 gL S IYATT AT ared " af@a [FIdr &1 379«rear,
SHT o @ollel goiia & §2 1 91 @ Wi a2 a1 o AR a2 aarel
fashd 1 376 A GHsd T e o AT et "I 39 A H FIs
3 g 3R T o 39 A8 Sad g, df Mkl Alerse dg g e, 3R
3T "

WRs135.1 Wellel I gfaem &7 A7 1
W 35.2 Welld §aT T TRERT #H ORIy T@dT 41 AT 18?7 3H9eT HIROT
s, 1

WeeT 35.3 oEelled FI oA ufq Far &7 2
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Q.36

arfeaessT 1.6

=322

=¥ 2021 %mﬁnmu@ﬁréﬂﬁ%
3Tiehs

£l e = 3 W & 96 Teremer=it 3imEe 2y fava & ar=
(=war.3m. ) wia =fam wHurfam amg 25 @ ar IEE foaera g
srifiat sfer & stfer ( HDI ) =T I
(2017 w4 vifea &war ) (2021-22)
e 12,578 76.4 10.8 73
R 6,590 67.2 6.7 132
=EE 3,851 65.7 6.4 149
gifsREA 4,624 66.1 4.5 161
B 3,877 68.4 5.1 143
U] 5,472 72.4 74 129
Hia: 7EE fawE 92, 2021-22, 9977 T2 fGFH@ FEET T
femuit
1. HDI =1 %1% % 6Fe fasm g 5% 91 7 aiers ¥ HDI 9% 1 %9% o 180 <9 3 9 &1
2. <9 ¥ §OA wOifEa A7, 99 5 A 9 e ¥, =i #1595 999 S99 g S G9Ee 19 8
3. wioeafaa 3w =1 7o | 39 % forg =fer § w1 w1 €, @ SEe! qor w1 o 9961 U8 39 aiee o off
=1 9t & fF U =few fedl ot 391 9 waE W § gl 3K Hed |@iE g9eh)

3R difelehT T f32eivoT & 3T 39T &

Q36.1 fg U T HDI e g8 & &2

Q36.2 &g &1 fr HDI IfFeT gea 31 &2
U 36.3 ART TISI3S YT & Aoiepr 3T Ieacer O 4 Uss @ 87

TABLE 1.6 SOME DATA REGARDING INDIA AND ITS NEIGHBOURS

FOR 2021

Country Gross National Life Mean Years of HDI Rank in
Income (GNI) Expectancy Schooling of the world
per capita at birth People aged 25 (2021-22)
(2017 PPP $) and above
Sri Lanka 12,578 76.4 10.8 73
India 6,590 67.2 6.7 132
Myanmar 3,851 65.7 6.4 149
Pakistan 4,624 66.1 4.5 161
Nepal 3,877 68.4 5.1 143
Bangladesh 5,472 72.4 7.4 129

NOTES

Source : Human Development Report, 2021-22, United Nations Development Programme, New York.

1.,
2.

3.

HDI stands for Human Development Index. HDI ranks in above table are out of 189 countries in all
Life Expectancy at birth denotes, as the name suggests, average expected length of life of a
person at the time of birth.

Per Capita Income is calculated in dollars for all countries so that it can be compared. It is
also done in a way so that every dollar would buy the same amount of goods and services in
any country.
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Analyse the above table and give the answers

Q36.1 Which country have lowest HDI ranking?
Q36.2 Which country have highest HDI ranking?

Q 36.3 Why the India is lagging behind the Srilanka and Bangldesh in
HDI ranking?

(2+3)=5
SECTION-F
MAP SKILL BASED QUESTION
gs - Th
HATATIT hierel 3memikd g2at

Q.37 | Two places A and B have been marked on the given outline map of India. | 2
1 Identify them and write their correct names on the lines drawn near them.

A. Indian National Congress session at this place in December 1920

B. Mahatma Gandhi organized a Satyagraha Movement at this place for

Cotton Mill Workers

HRT & AU 31T FR@T AATIT W & T A 3R B 3ifa fhe a1v §| 3% ggare 31k 3

9T GidY 318 Mgl IR Hel ATH o |

A.agwmaﬁfaﬁawwzoaﬁmmwaumwaﬁa‘m:@m

B. T8 T STg1 HGIcHT Il o Hclt hust fer Aotedl & forw aeamarg iictest fonar o |
2Q-37- On the same outline map of India locate and label any THREE of the following | 3

with suitable Symbols.

a. Bhakra Nangal Dam

b. Narora Nuclear Power Plant

c. Pune Software Technology Park
d. Kochi Port

e. Rajiv Gandhi Airport
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HRA o 8T TRAT AT W 3GYFd Icllehl & Y TAFATAET H & foheel cfieT T gl
TRt RAfegd &L

(1) HTEST ATeTeT drer
(2) RRT — 3UTAH Foll TIT
(3) YUI- AIFCAI;R eilellsll ITeh
(4) Ffea - FAr AT
(5) relia ITTel garg aeel

Note : The following questions are for Visually Impaired Candidates only
in lieu of Q. No.32. Attempt any FIVE questions.

5

32.1 Name the State where the session of Indian National Congress was held
in 1927.

32.2 Name the State where the movement of Cotton Mill Workers was started.
32.3 Name the State where the Jallianwala Bagh massacre occurred.

32.4 Name the State where Tehari Dam is located.

32.5 Name the State where Durgapur Iron and Steel plant is located.

32.6 Name the State where Gandhinagar Software Technology Park is
located.

32.7 Name the State where Paradip ‘Sea Port’ is located.

dAle: Aafaf@d uead Fad Reariaa aRenf2y & fov vea dwar 32 & Taa W § -
el gier 921 & 3T ¢ |

32.1 wmwmmaﬁmﬁmmmwz?waﬁmm?ﬂm

32.2 38 U &1 A1H Tl STaT Fit e Fotedl 1 3HTealelsd g3 |

32.3 37 T T ATH oW g1 SATITaTAT S19T §AThIS g3 |

32.4 39 TS I AT ford et gl srer 3rafeera § |

32.5 38 Tod 1 A1 o 181 g oilg vd ST 6T 3afeua § |

32.6 38 o &I ATH ford F@T AMTIR- AFCII CFATelion Ireh HaRAT & |
32.7 38 U 1 ATA oI ST61 IRIET HHA Il AU & |
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INDIA

OUTLIME MAP WITH STATES
& UNION TERRITORIES
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